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It died; they are not liable for a mishap - PPOIIR2 P2 PR NN

Overview

X127 ruled that if a father died and left over a borrowed animal to his heirs, they
may use it for the period it was borrowed for. If the animal died the heirs are not
liable for an unavoidable mishap. N1901n discusses other aspects of their liability.
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However, it is the view of the >'' that regarding the cow being stolen or lost,

the heirs are liable, since they benefit from it, for they are using it -
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And this is also what 221X said in [1a2IR7] (2Rw) Poo.

Summary
The heirs are liable for 7772281 72°1.

Thinking it over
How do we understand this difference that concerning 011X, the heirs are not liable

(even though they are using it for free), since they never accepted upon themselves
the liability of a Y%, but when it comes to X" they are liable (as a 19w W)
since they derived benefit from it; but they never accepted to be a w"w, just as they
never accepted to be a PX1, so why should they be 2> for X"1?!

" Only a 5% is liable for o1, however the heirs never took upon themselves the liability to be a YXWw.

> A 5w W (as opposed to a DI M) is liable for 772Ky 3, since he is deriving some benefit from watching it
(his payment). These heirs are also deriving a benefit from the cow (they are using it) therefore they should be liable
for 772K 72,

? The n"27 mxT amends this to read, (R,XD) PIRINT2 1°72K O, instead of (X,1%) X2 MK 3. The X3 in A9
IR queries what is the ruling in a case where the PR sent the item back to the owner after the period of moRw
(without the owner requesting him to return it), is he 77°2X1 72132 2717 (on its way back) or not. “n°»X responded that
he is liable since he derived benefit from this item (during the 798w period) so he is willing to be grateful to the
owner (713777 73721 °R177) and be responsible for 772281 72°1. Here too by the heirs, even though they did not take the
responsibility of being a 2X1w, nevertheless 73711 28171, they received a benefit from this 719, therefore n3mn, they are
willing to appease the owner and be liable for 8". See ‘Thinking it over’.

*See PR "7 "W,
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